
EXAM 2             PHYS 103              Spring 2013      A 
 
 

.Equation Sheet 
 
 

T(0C) = 
9

5  [T(0F) - 32];              T(0F) = 
5

9  T(0C) + 32;           T(K) =[T(0C) + 273]           = 
V

m ;            Acircle = r2     

 

 1 m = 100 cm        Vcube = a3         Vsphere = 3R
3

4
          Vcyl = r2L            1m = 100 cm          1 kg = 1000 g 

 
 
 
 Heat:     Q = mc(T - T0),       Q = mLF ,     L - latent heat          heat lost = heat gained 
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Thermodynamics:  ΔU = ΔQ + W           W = PΔV            Qh = W + Qc           
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Harmonic Motion 

x = Acos(t)       v = -  Asin(t)          = 2f      = 
T

2
         F = - kx      period:     Tspring = 

k

m
2 ;          

 

Tpend=
g

L
2            =   

m

k
        f = 

T

1
           vmax  = A        E = ½ mv2

  + ½ kx2;       Us = ½ kx2;                

 E =  ½ kA2;    v =  (A2-x2)1/2 
 

E =  ½ m(vm )
2

                   waves:      v = ·f                        linear mass  = 
L

m
                v =


F

      

standing waves on string :      n = 1, 2,  3.,      f = n
2L

v
          λ=

n

2L
             

 
Sound: 
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